Homework assignment for Spring Break 2018, MTH 06.

Completed assignments will receive 10 extra points in test 2.

1. Find the missing length. Express the answer in radical form if necessary.

(a) (b)

3
l—\ 11

9
- 8
2. Simplify the expressions
a) V12 o) O
(&) €
(b) /250 (0 5
V2723
(c) /24259527 2z
(8) 3 —
o 54’ 5
(d) S (h) o
3. Add or subtract, as indicated, and simplify.
(a) V20 +V/5 (c) V12 + 1
2 V6
3
(b) 2V122% — T/7 (d) V10— 75
4. Multiply and simplify.
(a) v20- V5 (¢) (V54 V6)(V5 - V3)
(b) V2(V3+3) (d) (V3+V5)?

5. Rationalize and simplify.

44/20 (b) V3-=2
3-5 V3—V2

OJ

(a)



10.

Solve the equations

(a) V2 —5—-6=0 (¢) V2 +12y —3v5=0
(b) V2y +7+4=y (d) Ve+1+x=1
Simplify.

/2173 1/3 B34y ~6/5 -1/3
) ( z2/3y ) (b) < x—2/3y? )

Calculate and write in the form a -+ 7b.

(a) (3+50)(2 - 30) (d) 12

(b) (3 = 50)(—2 + 74) (o) i~
3 — 5i

© S

Add or subtract the rational expressions, as indicated, and simplify.

(a) z—1 L x (© 1 N 2
c
r+3 x—2 z(x+3)%(x—2)  2%2(x+ 3)(x —2)?
-7 xr+6 r—4

(b) s — (@) -

224+32—10 22—14 224+6x4+9 (x+3)(x—2)
Multiply or divide the rational expressions, as indicated, and simplify.
(a) r—1 x (©) 1 . 2

. C -
r+3 x—1 z(x+3)%(x —2) * a%(z+3)(x — 2)?

(d)

(b) x2+3x—10+x2—4 22 +6x+9 (x+6)(x—2)
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